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Introduction
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Course Objectives
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Operation Plan
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Support
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Resources/Help

- Textbooks

+ “Introduction Computing using Python”, Ljubomir Perkovic, WILEY
+ “Python for Everyone”, Cay Horstmann and Rance D. Nescaise, WILEY
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Online lecture
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Schedule

1 Zo|A = M, WO IDLE & X|5H7| &
= =R =L RPN S

2 Variable, Expression, Operators,
Input and Output to screen

3 Conditional statements

4 Conditional statements
Iterative Statements

5 Iterative Statements

6 using turtle, Drawing figures
7 string, list
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Functions

Modules

tuple, dictionary

File Input and Output
Graphic tool, Pillow
GUI; using tkinter(Web

Programming)

Matplotlib
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Grading




Homeworks
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Recommendation
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Cheating
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Class culture
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Questions?




